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Abstract
American options can be exercised prior to the date of expiration, the valuation of
American options then constitutes a free boundary value problem. How to determine the
free boundary, i.e. the optimal exercise price, is a key problem. In this paper, a nonlinear
equation is given. The free boundary can be obtained by solving the nonlinear equation
and the numerical results are better.
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1. Introduction

In the early 1970s, Fischer Black and Myron Scholes made a major differential equation
that must be satisfied by the price of any derivative dependent on a non-dividend-paying stock
under some assumptions. The Black-Scholes analysis is of great importance in today’s derivative
pricing. How to solve the partial differential equation faster and more accurately is one of the
important contents in today’s computational financial field.

For an American option, the holder can exercise it prior to the date of expiration, the valua-
tion of it then constitutes a free-boundary problem. To solve the free-boundary problem, there
are several methods for the equation developed in the past two decades. For example, Jail-
let, Lamberton and Lapeyre ([1]) turn the free-boundary problem into variational inequalities,
then construct a numerical scheme to obtain the solution. A numerical method of the integral
equation that is based on an analytic approximation is described in [2].

A new method for determining the optimal exercise price is provided in this paper. The
numerical results from our method agree with those from the numerical method of the integral
equation.

This paper is organized as follows. In section 2, we describe the model of American options
on a continuous dividend yield. In section 3, we describe our method. In section 4, an example
and its numerical results are given.

2. The American Option Pricing Model

The Black-Scholes model for American call options with continuous dividend yield is the
following;:

%—YJF%ZSZZ; + (r- )saa—s-rv—o 0<t<T,0< 8 < Sp(t);
V(S,T) = max(S — E, 0) 0< S < S¢(T) = max (ESE)
V(S:(0),1) = Selt) - B 0<t<T; (1)
(Sf(t) t)=1 0<¢<T;
. V(O t)=0 0<t<T;
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where V— the value of the option; S— the price of the underlying asset;

o— the volatility of the underlying asset; E— the exercise price;

r— the risk-free interest rate; g— the dividend yield; T— the expiry;

S¢(t)- the optimal exercise price at a given time ¢.

This equation is based on these assumptions:

There are no transaction costs and taxes.

The risk-free interest rate r and the asset volatility o are constants.

There are no arbitrage possibilities.

According to the no-arbitrage principle, the price of American call options should satisfies
the inequality V(S,t) > (S — E)*, the details can be found in [2], [3].

If V,S and Sy(t) are divided by E, and for the dimensionless quantities we use the same
notation, then the dimensionless V' still satisfies (1), butEshould be replaced by 1. Problem
(1) with E = 1 will be referred to as the standardized American call option problem. For
different E’s, we need just to solve the standardized problem and get the final answer by mul-
tiplying the results of the standardized problem by FE.

3. Numerical Methods

For the standardized problem, let 7 = T — ¢, then (1) becomes

?9_:'/_%02 2%—(r—q)83—g+rV:0 0<7<T,0<8 < S¢(r);
V(S,0) = max(S — 1,0) 0 < 8§ < S¢(0) = max (1, g)
V(Si(r),7) = Se(1) — 1 0<7<T: (2)
O (st =1 0<reT;

( V(0,7)=0 0<7<T;

For (2), let & = S/S;(7), this transformation turns S € [0,S(7)] into & € [0,1], then
S =¢&5¢(n),
v(&,7) =0v(5/S¢(r),7) =V(S,7) = V({ Sp(7),7).

Since
ov_ 1o
dS — Sy(r) 9¢’
92V 1 0%

or  dr Sf(T)6_§+6T’
from (2), we have
ov 1 ,,0% dSy(r) 1 dv .
5_5058—52_(7”_ dr Sf(T))€6_§+rV_0' 3)

dsé‘T(T), v can be discretized by %T(T) =

k
B 50 oy — vt where v = o(7),0F = v(r — A7), S5 = S5(7), 85 = S;(r — A7).
Therefore, (3) can be written as

Suppose AT = T/K, where Ki s a given integer,

92 9
528—€Z+(2b+1)§8—2+cv:g, (4)



